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Polygon - A two-dimensional closed shape with straight sides. It does not

curved sides. Each side has only two points of intersection.



Convex Polygon - All the interior angles must be less than 180 degrees.
945% No extented side will pass through the interior of the polygon.
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Concave Polygon - An interior angle can be more than 180 degrees. If a side
is extented then the side will pass through the interior of the

polygon.
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Regular Polygon - All sides are congruent and all angles are congruent.
It is equilateral and equiangular.




Name a polygon by the number of sides.

Number of Sides

Name of Polygon

3 Triadl e

4 Quad rilete
5 Prate son

6 Ve corn

7 Sepbenon  Hepbocon
8 Octesyon

9 Noweson

10 Deennon

11 H-con

12 Ao dhece gon
) [ ~9en

A N 4en




Polygon Triangle | Quadrilateral | Pentagon | Hexagon | Heptagon | Octagon
# Sides ~ [ = Z = =
# of diagonals
L

from a vertex O l > 3, l <
# of Triangles ] b5} = g = C
Sum of the
Interior Angles /3D 360 S4o0 |70 q00 1O &0
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Polygon Interior Angle-Sum Theorem

The sum of the measures of the interior angles
of a convex n-gon is 180 - (n— 2).
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Measure of Each Interior Angle of a Regular Polygon.

The measure of an interior angle of a reqular
180-(n — 2)
- .

n-gon is



Find the sum of the interior angles for each polygon.

~ 7 S=1vol(s-2)
S= liso(‘?-z) S—lf:;(l;?b 150 () = S Yo
I80(SD = 900 =940
Nn=A4

A regular 18-gon

= (8018~
S=180(4-2) S=1s )
= )8D(lcs
180071
= 286%0
S:‘. [ 260



Find the value of x

S =)ol 12D S=isole-zD
S=180(s~ ) = 720

= 900

= Syo

Y 4150 +1S5 ¥118 +105= 540

¥ F130 H1D5L F1%0 + 1o 128438 =Gop
X+t28=540

K+N2A+ISS+40 L 984190
XA 788 =F00

= o
- o
Y= 12 Y= 1A X4+595 =720
X=125°
X 91°
38°
120°
8g° 34° X
- S = sol3-2)
s = /80(:‘{—?_3 S = /80(8~2)
= veo = (02)0

DT X+3%1+3Y
K+ /1s0+i190 4120 +1504 125 315+ = /63O ¢
X +9] +1204 8% = Slo

X4 §75= /o8O JE0 =X + 7

X= (O




Find the value ofxand the measure of each interior angle.

(3x — 20)°
ax°
(3x - 20)°

ax—sop ! (4x - 80) <
X — ° X — ¢
120 120 + [(3x - 20)°
(24 % 50)° (2x 4 507
4x°
152 }so
(2x + 50)° (2x + 50)°
/20 J2o (3x - 20)°
(4x - 80)° (4x - 80)°

logo= Y {(4Ux-x6) + Y(ax o)
[ox - 20 + §x+ 200

1o@e> 24 ¥~ )0
fRo0 =221x
Y =5P



What are the measures of the interior angles
of the pentagon shown?

SOLUTION

22 X ¥loo = S4p

RAAX = Y40
X= 2D

(3x
&4

SUo= DR+ TIx-> Yoxsin Hox->3 90




Find the measure of each interior angle for each regular polygon.

S /865D /eol6~D) /s0le-2) 1207
n s 3 b B
= (o8° ] 35%

a regular 16-gon



